CSE 333 - SECTION 7

‘HW3 Hex View
‘Inheritance Constructors/Destructors



magic_number

Hex View B2 o

Find a hex editor.
Learn ‘goto offset command. [
See HWa3 pictures.

doctable size
bytes

index file

The header:
Magic word Checksum Doctable size Index size



Hex View ===

4 bytes T chain len
bucket_rec 0 -7 4 bytes
8 bytes See | _bucket position |
bucket_rec 1 T=-. 4 bytes
a8b
— bucket_rec
'''' 8bytes |
] . ]
1 L] 1
1 . 1
bucket rec
num_buckets-1  element 0 position |
--------------- 4 bytes
ab
= B
bucket 0 o . I
,/‘ element
bucket 1 o chain_len-1
< position
bucket 2 ’ 4 bytes doclD
v —
| . | \“ = & bytes
i . N e filename length
', cemento |~ [ 2byies |
bucket *. e
num_buckets-1 * Tl | _filename |
S filename
doctable : . | fength bytes
1 ™ 1
The doctable element
element
chain_len-1

bucket



Hex View

[ T

[ T

The doctable (part 1):

Num buckets

( Chain len

chain len

num_buckets

o L

oy LI

Bucket offset )*

bucket_rec
num_buckets-1

bucket D

bucket 1

bucket 2

bucket
num_buckets-1

doctable



Hex View ===

4 bytes T chain len
bucket_rec 0 -7 4 bytes
8 bytes See | _bucket position |
bucket_rec 1 T=-. 4 bytes
a8b
— bucket_rec
'''' 8bytes |
] . ]
1 L] 1
1 . 1
bucket rec
num_buckets-1  element 0 position |
--------------- 4 bytes
ab
= B
bucket 0 o . I
,/‘ element
bucket 1 o chain_len-1
< position
bucket 2 ’ 4 bytes doclD
v —
| . | \“ = & bytes
i . N e filename length
', cemento |~ [ 2byies |
bucket *. e
num_buckets-1 * Tl | _filename |
S filename
doctable : . | fength bytes
1 ™ 1
The doctable element
element
chain_len-1

bucket



Hex View

The doctable (part 2):

( (Element offset)" ( DoclD Filename len

element 0 position

element
chain_len-1
position

filename
length bytes

element 0

element

element
chain_len-1

bucket

Filename )" )*



Hex View ===

4 bytes T chain len
bucket_rec 0 -7 4 bytes
8 bytes See | _bucket position |
bucket_rec 1 T=-. 4 bytes
a8b
— bucket_rec
'''' 8bytes |
] . ]
1 L] 1
1 . 1
bucket rec
num_buckets-1  element 0 position |
--------------- 4 bytes
ab
= B
bucket 0 o . I
,/‘ element
bucket 1 o chain_len-1
< position
bucket 2 ’ 4 bytes doclD
v —
| . | \“ = & bytes
i . N e filename length
', cemento |~ [ 2byies |
bucket *. e
num_buckets-1 * Tl | _filename |
S filename
doctable : . | fength bytes
1 ™ 1
The doctable element
element
chain_len-1

bucket



Hex View s

| dbytes _--=- [___chainlen "]
| __bucket rec0 | -~7 4 bytes
gbytes | -.._ [ bucketposition ]
bucket_rec 1 S 4 bytes
8 bytes
—— bucket_rec
_____ gbytes |
I * I
] L) ]
i - i
nug.lmgﬁt;ﬁ;1 element 0 position
""" sbyies ] 4 bytes
1 - ]
1 L ]
bucket 0 S . i
#
e element
bucket 1 i chain_len-1 | __Wwordlength |
e position . 2 bytes
— S dbyes | " [docID table length
S| 2o IR engen
\\ f” " bﬂﬂﬂ
| . AN R T word |
: » ! ™, ant 0 ’ word length bytes
bucket \\\ AN
num_buckets-1 * *,
‘\‘ doclD table
"'Id ex 1 - 1 \.\
i . I “
. P N
The index * | dociD table length
bytes
element
chain_len-1

bucket



Hex View ===

4 bytes T chain len
bucket_rec 0 -7 4 bytes
Snine R | NEHIEiER pomsttion B
bucket_rec 1 Te- 4 bytes
&b
bunket”f;c 2 bucket_rec
""" 8 bytes |
1 . 1
1 L] 1
] . ]
bucket_rec
num_buckets-1 _Elfr_“_e'_'t_u_ E?’_“!IE n
--------------- 4 bytes
&b
= T
bucket 0 o . [
*
i element
bucket 1 o chain_len-1 ____doclD |
o position S 8 bytes
L ! num positions
bucket 2 4 bytes S e
’ 4b
- \\‘ ’,; yies
; TN ]
]
™, element 0 =
bucket 'u, “ | ___position1 |
num_buckets-1 ~ . 4 bytes
. position 2
1 L ] 1 L TN S B —
doclD table : ‘ : \‘ 4 bytes
Al
The doclD table A
i . i
element position
chain_len-1 num positions - 1
4 bytes

bucket element



Inheritance Constructors/Destructors

- The derived class:
- Does not inherit any constructors.

- MUST call their base class constructor.
« Omission == calling the default constructor.

- Constructors resolve from base to derived.

- Destructors should be virtual !



Section Exercise

class B { void out(string s) { cout << s << endl; }
public:
B(int *k) : k_(k) { out("B::cons®); } void main() {
void p() { out("B::p”); } B base(nullptr), *baseptr;
virtual void q() { out("B::q“); } Der der;
void operator=(B &rhs) { out("B::=); }
~B() { out("B::~"); } base = der;
protected: base.p();
int *k_; base.q();
3
class Der : public B { baseptr = (B *) new Der;
public: baseptr->p();
Der() : B(new int(9)) { out("Der:.cons®); } baseptr->q();
void p() { out("Der::p“); }
virtual void q() { out("Der::q“); } der.p();
void operator=(Der &rhs) { out("Der::="); } der.q();
~Der() { delete k_; out(“Der::~"); } delete baseptr;



Section Exercise

void main() { - B:cons
B base(nullptr), *baseptr; - Bucons
’ ’ - Der::cons
Der der;
- Bi=
base.p(); -q
base.q(); - B::cons
- Der::cons
- Bip

baseptr = (B *) new Der;

- Der::q
baseptr->p();
baseptr->q(); - Der::p
- Der::q
der.p(); $ B
derq()1 - Der::~
delete baseptr; - B~



